             2     1    0
1) 27110 = 2*102+7*101+1*100,
             6   5   4    3   2    1   0
    10110112 = 1*26+0*25+1*24+1*23+0*22+1*21+1*20,
  2    1   0
2658 = 2*82+6*81+5*80;

            2     1    0
2) 27410 = 2*102+7*101+4*100,
             6   5   4    3   2    1   0
11011012 = 1*26+1*25+0*24+1*23+1*22+0*21+1*20,
  2    1   0
2678 = 2*82+6*81+7*80;


             2     1    0
3) 27710 = 2*102+7*101+7*100,
             6   5   4    3   2    1   0
    11011002 = 1*26+1*25+0*24+1*23+1*22+0*21+0*20,
  2    1   0
2738 = 2*82+7*81+3*80;

